SAMPLE QUESTION PAPER 2025-2026
BHUTIA CODE: 195 CLASS-XII
Time allowed: 3 hours Maximum Marks: 80 Marks
The Question Paper will be divided in to five sections:
Part A: Objective type questions

Section A: Reading Comprehension: 2 passages 10 Marks

Section B: Applied Grammar: 05 Marks

Section C: Text Book: 05 Marks
Part B: Descriptive type question Section

Section D: Writing Essay, letter, application. 15 Marks

Section E: Literature: 45 Marks

Scheme of Section and Weightage to content:
Part A: Objective type questions
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